Analysis and Conclusions


Osmosis is the process in which water goes from an area of greater concentration of water to an area of lesser concentration of water. This process will continue until equilibrium is reached. When two solutions have equal amounts of dissolved substances, there is no “Osmotic Pressure” across a dividing membrane. The solutions are in equilibrium. In the body, the process of osmosis can have consequences that are both good and bad. For example, if water in excess moves into a cell it can bloat and burst from the osmotic pressure. If too much water exits the cell, then the cell will shrink. This is why cells are not surrounded by pure water, but need fluids such as blood with a similar concentration of materials.

1. What is the purpose of the Lugol solution?

2. The purpose of the Lugol solution is to enhance the appearance of the onion and potato cells so they can be examined under the microscope.

3. Which beaker contained the higher concentration of water?

4. The beaker with the plain water would have the higher amount of concentration.

5. Relate the degrees of flexibility of the potato and the onion, dry, in water, and in the sodium nitrate solution to the process of osmosis.

6. The potato and the onion were much more flexible after their time in the water than before they were submerged. Also, the sodium nitrate made water leave the onion and potato cells and they became less flexible.

7. Relate the differences in degrees of flexibility of the onion to the appearance of the cells observed under the microscope.

The cells became more flexible because water entered the cell and made it larger under the microscope.

